
LOWER FRAME ILLICO

TKAZDB
24/08/202324/08/202319/10/2017

1:8 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00247 G/

EP00247 / G
1/2

VERMEIREN

1

2

3

10

12

15

26

20

23

14

21

28 2530

21

14

26

23

15

4

4

12

15

12

15

12

4

14

21

26

23

10

25

23

27

27

24

29

4

5

16

13

9

6 13

8

17

7
19

16 22

22

A
B

A (1:5)

24

11

16

B (1:5)

18

11

24



LOWER FRAME ILLICO

TKAZDB
24/08/202324/08/202319/10/2017

1:8 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

EP00247 G/

EP00247 / G

Material
No. Plan Article Quantity
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31*
32*
33*

YP05847
YP05862
YP05872
YP06097
YP06245
YP06445
YP06446
X001029
XP00871
XP01839
XP01931

Bearing D35xD17x10
Nut M8 DIN985

Nut M10 DIN985
Axle Ring DIN6799 D15

Washer M8 DIN125
M8x40 DIN7991

Nut M10
M8x60

Control Box Support
Wheel D100

M8x25
M10x90
M10x65

Pen D10x50
Cap 30x50x3

Pin D6x12 DIN1481
Motor LA40 8000N

Remote Control
Control Box CA40

EPR Cable
Motor Cable LA40
Cable number 1

27838
27841
27843

2993740
2795903

27313
27314

1375500
2830300
2993557
2993584
1001409
1001682
1001683
1003049
1003199
1008738
1009994
1900809
1913262
1914317
1990501
1998812
1998862
1998885
2993583
2993738
1914183
1904296
1912898
1902971
1912903
1995835

1
1
1
6
1
1
1
1
1
2

12
4
4
6
4
9
1
2
1
1
4
2
4
4
2
4
2
1
1
1
1
1
1

*- not depicted / nie ujeto

2/2

|
|
|

|
|

VERMEIREN


